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The figures in the margin indicate full marks
Jor the questions

1. Answer the following as directed : 1x10=10

oo IR ot ey fm

(a) What is the first principle of the universe
according to Anaximenes?

QIS TS Toreq A2y o8 592

(b) Mention one point of difference between
Thales and Anaximander’s Philosophy.

@B ST HIFEeRT W gwe bl ftl<y
Y 9
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(c)

(d)

“(e)

(0

(g
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Who viewed that ‘All is flux’?

@i Te oM SRfE  TREEER
S Ie ?

Who has made the distinction between
sense and reason for the first time in Greek
Philosophy?

St wie @IE EIFERRE AR T A1E
ey T SNy T ifee?

“All knowledge is knowledge through
concepts.” Who said this statement?

‘S gPied @M RASRY TEE 7|
YR @I (@iRel?

Is ‘justice’ a kind of virtue?

T ARRIF Go! AP T ?

What was the primary question of pre-
Socratic Philosophers?

sip-uavr. PR AR TR el
& =nfeEr?

( Continued )

’71’

(h)

(i)

G)

2. Answer the following questions in brief :

‘Knowledge is perception’ is a theory

advocated by Protagoras/Socrates/Aristotle.

( Choose the correct option )

‘o W 2 TN 49! 2 A TINEIs/
TR/ B T | £ 0

( W= Rl A Sfereat )

‘The doctrine of harmony of opposites’ is

associated with Heraclitus/Parmenides/
Zeno.

( Choose the correct option )

s THE RER ToIW T S (@AMForR/
“Nifi2fn/ e wive |

(W= fam G SEea )

Write the name of the poetry through
which ~ Parmenides eXxpresses his
Philosophical thought.

aclERen RGN IReR NYEE @6 ae
Rt e SR o F |

oo APTEd Y Ged i

(a)
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Mention the two main principles of Thales
Philosophy.
g Wi dgie S 3 G T T P
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(p) Name the two Philosophers of Eleatic (c) Write a short note on the Atomism of
School. Democritus.
aferae MR qaw ares T i (CEITEDR AR e RRw «ft 59 Gt |

(c) What is meant by ‘potentiality’ in
Aristotle’s metaphysics?
qfEeE  Siifme SRre TeEEl
(potentiality) feite1 & @l ?

(d) Write a note on the Philosophical method
of Socrates.

wooed ae omiod Raw aft Gl e |

(d) What is Atomism? (e) Distinguish between knowledge and
sRElEm et & @i ? opinion.

(e) Write the name of two dialogues of Plato. @i W Sfored Twd A e el
(AR T4 @A A ot |

() “Man is the measure of all things”

3. Answer the following questions (any four) : (Protagoras). Explain the statement.

5x4=20 ‘T T TR e 3 SR
g TRy Oed il (R et wifadn) (2BIAIR) | FAER I
(a) Discuss briefly the Anaximander’s view
regarding the ultimate substance of the 4. Answer the following questions (any four) :
universe. - 10x4=40
ed 59N ©% I TF TR @SR wm@@ﬁm(ﬁmmﬁﬁ)
TSIVl BICF ST 341 |
i (a) Critically explain the number theory of
(b) Describe briefly the characteristics of agorean
‘Being’ as explained by Parmenides. et | '
: Wﬁomwmw
ARG TP F91 470 WW@T‘I{{W RGNS f
6 91 | A |

( Turn Over )

A23/758 A23/758

( Continued )



(b)

(c)

(d)

(e)

by

(g

A23/758

Discuss Aristotle’s view on causation.

ARBTAT FRG T TOIMGE S F41 |

Explain Plato’s theory of Forms or Ideas.
YR SRR N LR 4t 54 |

Discuss Aristotle’s concept of Form and

. Matter.

GRBTN TFE TFE SO IR 4Re)
SIS 4t |

Critically explain Plato’s Theory of Justice.

CAUBIE WIFA 4IFENNTEI AL G SeI=_eGHT |

Analyze the significance of Socratic view
that ‘Virtue is Knowledge’.

LR TG W FAFEE ©ieeRf fRse
|

“The universe is in a continuous change
or constant flux.”” Explain and examine the
statement with reference to Heraclitus’
theory of change.

Wrﬁwﬁﬁ%mms”mﬁmﬁ
AREET OFF SPRIS AT 01 W1 43y
4 |

( Continued )

(h) Explain Pythagorean view on Religion and
Ethics.

o wiF foeonR @ sRAmsREFees
TSIm i 41 |
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1. Answer the following as directed : 1x10=10
oS frEialey FosRE See i

(a) The difference between traditional and
modern logic is not one of kind but of
degrees / qualities / languages.

( Choose the correct option )
e i Wi offwmN ey
AP TR J98 2 2’ QNS / B9 / ST

A< |
( w= [E0! A Shreat )
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(2) | (330}

(b) Every compoimd statement is truth- (g) Give an example of subjectless proposition.

functional. Is it true? SRR 5 @Bl A |
% Gk B I j- (h) Truth or falsity is a property of logic /
el proposition / argument.
(c)p e phviq ( Choose the correct option )
~ p TSl AR TpTeel (R SHRRIN / 75 /
Bl q E%W ‘ﬁfl
(wm Rt afs Sfrea
What is the name of this rule? )
&2 FEmR AN /2 (i) Ideograms directly stand for
( Fill in the blank )
(d) Who is the author of the book, e
Prior Analytics? e =2 aopweim _ fott |
(0 21 o9 = )

Prior Analytics %373 o13% @197
() Are symbols and signs same?

(e) A conjunctive function is true if any one TOIT W% oz g @2
of the conjuncts is true. Is this statement
correct? 2. Answer the following questions in brief : 2x5=10
9Bl FEEE T He W Iz ©iF & et ©o AR 5 Ted fi
B! TP 7] 2 | P T (a) Give the definition of a proposition

(f) Shorter truth table method is a part of according to modern logic.

propositional logic / predicate logic. S SHR@I SN R RE
( Choose the correct option ) (b) Write two distinctions between logical
5 A AEE ool il dmfe  /HINT constant and variable.
CERBIN / RUAIe SHR@T G5t =iz | @ﬁnmwwmﬂﬁaﬁwwgm
(wm Reest A Shrea ) - ity ferst |
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)

(c) If A and B are true statements and X and

(d)

(e)

Y are false statements, then determine
whether the following is true or false :

I A SIF B A9 2 9 X WF Y 9] 2,
(SE T were Tt ey (7 WSy e 4t
(Av X).(Y v B)
Mention two similarities between direct
and indirect truth table.
ofePF IF AErT Aopel O 7ol ATl
S 4
Symbolize the following statements :
o] RRFOTEe AOIPEP TS 4PN 741
(i) If it doesn’t rain, then we shall go for
picnic.
T e M, SER'TE Wiy Irerete
9 |

(ii) It is false that Russia has won the
war

G201 =l @ AR Taem et |

3. Answer any four of the following questions :

O
(a)

A23/759

5x4=20
PR @i sifve Sea forat

Write a short note on the characteristics
of symbolic logic.

Ao o [WREpme aw «of oY
Il fordt |

( Continued )

(b)

(c)

(d)

(e)

(f)

A23/759

Distinguish between general proposition
and class-membership proposition.

YR 67 SF EN TETS! B qwre AL
ICERREIl

What is meant by interdefinability among
truth-functions? Explain.

Topel  TERd S H@IWWB  (inter-
definability) 3 & 3w ? =0t ¥4

Distinguish between inclusive and exclusive
sense of disjunctive truth-function.

e Aol T SEee Wi Reie wd
o Al e 4|

State the rules of inference that are used
for constructing formal proof of validity.

el SGIRE ol a0 PR JERE T
S TR Sy T4 |

Write a short note on the uses of symbols
in logic.

SHREe Aeed 2R w9 5y G
ferat|
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4. Answer the following questions :

( 6 )

10x4=40

oeq ofEPTRY Oed frl

(a) What is general proposition? Explain the

(b)

A23/759

classifications of general proposition with
proper examples. 2+8=10
AR 5 F2 TS THIRIPR AYET 671
cIferE gt 1

Or / 5341

Discuss the points of similarities and

dissimilarities between traditional and
modern logic. 10
sREeRlTe Wi ST SHRE TEe 3
ARG SIF EAPIPTR SAICEo= 341

What is logical connective? Give brief
introduction to different kinds of logical
connectives used in symbolic logic. 2+8=10

ooy WEAEE W 7 TR shwmTe
wEe @ Ko o emem T
A6 SIS |

Or / 531
What is symbol? What is the role of
symbols in translating our everyday
language? 2+8=10
o1 7 A AR i At 9t e
T TR (FAS LT SR A 3971 |

( Continued )

-«

(c)

(7))

What is truth-function? Construct truth

table for the basic truth-functions. 2+8=10
04151 = o O o Al ) (S S [
Tore! Siferel sfoq 4 |

Or / 9231

What is indirect truth table method?
Construct indirect truth table to determine
the validity or invalidity of the following
arguments : 2+4+4=10

s Topel Sl 5?7 FR ez e

3l Sagel WRed IR AEE Tope! Sifert
S5 34 :
(i) (R.Q)VvS
R
~Q/..S.R

(i) (PvQ).(~S.Q)

~ S
Sl QNN A e R
(d) What is formal proof of validity? What are
the strategies for constructing a formal
proof of validity? Discuss. 2+8=10
qyoR SiFRTS #d [$? ER wieRee
ot oo e e e eTmet =2
iCeTeal 91
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(BR81)

Or / o231

Construct a formal proof of validity for the

following arguments : 5+5=10
o JETIRE PR (TEOR HIREIS ANl 515
41
(i) (~K.P)D(BVR)
& KADHBIOID)
~ KV (R D E)

~K.P ../DVE

(i) ED(F.~G)

(ENVG) = H
E Uil
* Kk k
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